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11.

(@) sEEf® ST & w1 Brae 287
(@) A9 9isfST B gy |

OR (3121an)

Write and explain program relocation algorithm

NU™ Reftoaa tomRem ford i a9y |

Discuss the design of a two pass assembler.

6
Ud S0 ek & SO iR =a4ai o |
OR (3121an)
Discuss Pass structures of Assemblers.
IMTRI DT UM GXEAT WR T4l BN |
Describe different forms of text editors.
6
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Time : 3Hrs. Sem. VI/C.S.E

Sys. Software
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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Answer all Five Questions.

9l uig gl & SR o

7.

6x5=30

What is use of static pointer and dynamic pointer
in compiler? Explain working of display. Give
suitable example.

wefed uidgex 3R sEafafe dider @1
HHYTSAR d T SUAT 87 fewa @ &
BT ATAT B | SUYdFd IarevT Y |

NT6013

(i)

(i)

(iif)

(iii)

3 1618602

The last statement of the source program
should be:

(a) Stop

(b) Return

(c) Op

(d) End

Erd Na™ &1 3ffaw faaxer ghar 2—
(31) Stop

(d) Return

(|) Op

() End

In a two-pass compiler the object code is
generated in which phase?

(a) Zeroth pass

(b) One pass

(c) Two pass

(d) Not done by compiler

TI-UN HAYEOR H JAfsolae dis fod
aXo] § SO~ BIdT 87

(31) Sikier U™

(@) v urE
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(]) PHUTT R §RT 81 fHar <irar @
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frfaRaa w1l @ aRWTa & |
(31) forfepr

(@) YU AT

(\) At

(2) wilRfr

OR(3721dT)
Describe the steps involved in the execution of

a program written in language L, with a proper
diagram.

fodY wror LA fod v gium™m & fAsarea d
IS AR &1 99 U Sfad IIRE @
arer vy

How compiler implemenst scope rules? Explain in
brief. 4

PHUTSR ThIY a9 9 991d 27 9ag &
9Ty |
OR (3121a1)

What is control structure ? Explain in brief.

hold TAgHAY a1 27 d&Y § a1V |
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A compiler for a high-level language that runs
on one machine and produces code for
different machine is called:

(a) Native code compiler

(b) Cross compiler

(c) Source compiler

(d) One pass compiler

Udh IR ANT @ v U HAuger
Sl U #39 W) derar @ S fafr=
73fiq & fiY sIs 9+rar @, 98 a—

(31) Aifea wis HHUEER

(@) a9 FAUS AR

(¥) Sd HHUTS R

(]) U Urg HHUTS R

A system program that combines the separately
complied modules of a program into a form
suitable for execution is :

(a) Assembler

(b) Linking loader

(c) Cross compiler

(d) Load and go
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AP TS WeHe AR @ 99 ®
AP gRATIT Fel = Blar 2

(31) d=! s Wi

@) AP <xfiFic Redw=<

(7)) AP T LeA<

(]) SWida # 4 ®Ig 8!

Which of the following system software does
the job of merging the records from two files
into one?

(a) Documentation system

(b) Utility program

(c) Networking software

(d) Security software

f=ifaRaa 9 9 sl9—a1 Ried
AifeddR <1 Bigdl & RerS & b
¥ g™ &1 &1 HRar 87

(@) StagATeT gru™

@) gfeferdt wium™

(¥) Sicad U™

(]) g=am im™
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A non-relocatable program is one which:
(a) Cannot be executed other than assigned
memory.

(b) Consists of a program and relevant
information for relocation

(c¢) Can itself perform the relocation

(d) All of the above

TP IR—TAIARYT NI 98 & Sll—

@) fAafRa 998 @ sramar $21 AR

frrogrfea 1 81 "adar

(@) TS 9IU™ 3R D AR D
forg urifire SHeRN) X@ar 2

(W) @d & WA &R Ghdl 8

(%) Swiaa g+

An interpreter is a program that:

(a) Appears to execute a source as if it were
machine language

(b) Automate the translation of assembly
language in machine code

(c) Converts high level code in machine code
(d) Places programs into memory
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Td YT §aRiAT QT divedaR 2
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(31 urum fHfer 3R wieor & ferg

(@) ™ GureH, fasarea AR fsafir
@ ferg

(&) <=1 (31) 3MR(d)

() Swiad ¥ @ HIg T

Dialog manager and presentation manager
are the two components of :

(a) User interface

(b) Editor

(c) Programming environment

(d) Debug monitors

STAAT A9OR 3R goieeE AR
3l gcd B—

(31) Jo} gTBE @

@) ufeex &

(A) NUIfHT saRIAT &

(%) fsav #ffaex @
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Loaders that allow for program relocation are
called:

(a) Relocating loaders

(b) Relative loaders

(c) Both (a) and (b)

(d) None of the above

YT IRATHART DI Jq4afd 24 drel
s dEdld 2—

(31) Yo fET s

(@) Rafea arse

(&) (1) 8k (@) <r=f

(]) SWiad ¥ & &Is &l

A system program that combines the
separately compiled modules of a program
into a form suitable for execution.

(a) Assembler

(b) Linking loader

(c) Cross compiler

(d) Load and go
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OR(312rar) OR(312raT)
What is user interface? Describe its components. What is user interface? Describe its components.
Yok SSXBY T 27 $HD Tchl $I Ui YOIR $SBY T 22 $HD TTHI $I vl
N | N |
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